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QUESTION 1

Which of the following is a limitation of a test automation project that is likely to cause an organization to get less return
on their investment than they expected? 

A. Approach stating that all manual tests should be automated 

B. The pesticide paradox is decreased with automation 

C. Short-term thinking and inadequate planning for the automation 

D. Executing tests outside of normal business hours 

Correct Answer: D 

 

QUESTION 2

Given the following code, which of the options best represents the resulting web page? 
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A. B. C. D. 

Correct Answer: D 

 

QUESTION 3

Which of the following is a good definition for DOM? 

A. An API interface which treats an HTML document as a tree structure where each node represents an object 

B. A mock object, emulator or simulator which allows the automation to consistently test some capability, even when the
physical object is not available 

C. A test automation pattern which forces the technical and business layers to be considered separately 
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D. A layer which provides an environment for automated test scripts to execute 

Correct Answer: C 

 

QUESTION 4

Which of the following states for a link WebElement could be checked to ensure that trying to click on the WebElement
does not fail? 

Choose three of the seven answers 

A. The WebElement is selected 

B. The WebElement exists 

C. The WebElement is not selected 

D. The WebElement is displayed 

E. The WebElement is at a particular X,Y location 

F. The WebElement is enabled 

G. The WebElement has a text value 

Correct Answer: AEF 

 

QUESTION 5

What will be the output of the execution of following piece of code? 
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A. B. C. D. 

Correct Answer: A 
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